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a—F i Fik | PR (kg) 2% (1) =l i Sl FE (HAL)
30100 (W A 43 2,198 59 49 49 | BN 43K
30200 | D& 6 227 11 11 111 &W 21K
31200 | [LIR3E 4 216 11 11 11BN 203K
Y3015 T A UE 1 86 22 22 22| BN 4
131800 1FHNAE 59 9,181 54 22 22 BN 293K
31900 H ¥ 7 470 108 54 54 | BN Tkg
35100 'WAIT A 1 529 864 864 108 | &M lkg
35220 FHRERHL 8 6,016 756 756 648 | BN 8kg
35303 R F v TEIALED 57 21,514 432 356 324 | B '57kg
Y3033 &AL 242 21, 330 162 54 32 BN 242kg
36200 |FE44EE 34 5, 662 173 173 162 | B 34kg
36501 o< R 15 2, 430 162 162 162 | B 15kg
37200 L x 9 M 20 3, 024 216 108 108 | BN 20kg
33410 H=—L & % 8 778 32 11 111 BH 384%
38100 A LW=iF 1 972 972 972 972 | BN 1kg
Y3030 WA (&) 3 5, 184 1,728 1,728 1,728 | &MY 3kg
36340 L NREHE 45 16, 092 486 432 162 | BN 45kg
34600 LLESDHL 270 108 108 108 | B9 3kg
41410 LVE 1, 354 36 36 36| BH 381
46108 I DNUFI DD EF 14 19, 094 432 389 389 | BN YA
71010 K% 12, 436 54 36 16 | &N 13194
71011 AL —% 14, 256 216 194 194 | B 703
71150 LIZ 756 43 43 21BN 2031
| 53456 T-RiE 6 2, 560 432 432 378 B ‘Bkg
30100 72V Z A 60 3,024 54 54 43 | =I5 607
30100 72V Z A L 80 3, 888 49 49 49 |REIR 804
30200 A5 6 648 22 22 22 | I 30
30200 5 13 1,231 36 22 22 | BIRE 44K
30300 'A% 54 5, 832 " 54 54 54 |5 I 10848
30300 A% L 70 5, 292 756 756 756 | E IR} T =2
30300 A% E 40 1,512 432 432 324 | I 44— 2
30400 ZIEH 11 2,959 86 86 76 | ALifmE 354¢
31100 H3E 300 9, 288 594 432 432 IR 2047 — A
33810 HHER 3,024 1,512 1,512 1,512 EIRE 2 — A
33810 HHHE 1,512 76 76 76 | EEVR S 2048
Y5005 4kEA | | 1,566  1,566| 1,566 1,566 K4y 17—
32600 F4 270 11 11 11 |REA 2548
31700 ¥y XY 210 12, 690 756 648 432 | ‘B IR 21— R
31700 ¥ ¢~ 50 3,726, 810 810 648 | HE 15 B 54— %
31800 139 NLAK 8 432 | 11 11 11 BRE 4043
31950 ARE 15 3,888 864 756 756 | E I 54— 2




fh HE i &
a— R P Lk | PER (kg) &% (M) =il i Nl PE i (HAL)
31900 # ¥ S 10 1, 296 108 54 54 | IR 205 (500g)
32800 5 5 1,728 54 22 22 | = I 503
| 34300 7 2L 20 5, 260 1, 350 1,296 1,296 fig 44—
34400 k= k 44 9, 180 1,296 756 756 |HEA 1147 — A
34460 I =L F L M 2, 851 119 119 119 | Rl 24,83y 7
34460 I =Lt F & S 2, 376 1,188 1,188 1,188 |ERE 24— A
Y3058 HE b= b 756 756 756 756 | FEIR B 17r—2
34100 HAM L 15 2, 592 864 864 864 |REA 3T —A
34100 | #HA/K L 5 864 864 864 864 | E IRy 17—
34100 |#H/K L 20 4,320 1, 080 1, 080 1,080 |fEIR & 45— A
34500 bB—=1 28 3, 667 24 11 11| =I5 245%%
34500 (E—~ M 6 648 11 11 11| ERE 604
34571 7Y () 1 983 140 140 140 |85 [F T{E
34572 T YU B () 1 1,058 151 151 151 |9 [E {#
| 36200 |F5EnEE M 70 10, 584 1,512 1,512 1,512 | dbEE 14— A
36600 7mFiX LK 60 11,016 3,672 3,672 3,672 | dbiEE 37—
37200 | L x 9 A8 2L 8 3, 348 1,728 1,728 1, 620 | [EH 24— A
33400 | L& A 39 1,210 22 11 11| W 981
33600 %t Y 281 162 162 119 | & 248
33300 ([ Tmyal— 4,045 151 151 59 |BEIR B 314
38100 |4 L =i 12 7,992 70 65 65 | = I 12073y 7
31310 | AP 8 864 22 22 22 |EIR B 4088
31500 /A 16 864 11 11 11 | E 80%%
32500 | AoiE 2 648 32 32 32 | 1B 203
37560 | BEIE 1 788 119 108 108 | K4y (AP
40100 B A L 30 7, 020 2,376 2,376 2, 268 | R IR 3=
40100 A A L 30 8, 424 2, 808 2,808 2,808 | B E 37—
42000 W AZ 32 8, 986 140 140 140 | BB 64,3 7
42133 [2F AL — b 5 378 756 756 756 | % 2% 11—
Y4017 50U 160 22, 248 1,620 1,296 1,296 | K& 1647 —
43610 EAHM X 20 1,350 378 324 324 |#& [ 44— 2
43800 1F LA 4 2, 808 216 216 216 |REA 138w
46108 S UEDOMNFEE B N 12 6,912 173 173 173 | BEIR 403
47310 NFVam Aoy 27 648 54 54 22| A% a 18(A
71010 K% 2,786 60 60 32 | KB ¥ 607
71011 A F L —% 24,516 65 65 59 | KIRF 38074
21090 R H—F R 6, 480 76 76 65 | KBRIFF 907
| aat 2,234 379, 192
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